Enrollment Management Committee

September 19, 2024

- SDCCD Enrollment Report 9/15/24
- Modality Summary
- Common Course Numbering (CCN)



Chancellor's Enrollment Cabinet Update Credit Colleges - Fall 2024 Two Weeks After Credit Colleges' Census Day

Executive Summary
Data as of 9/15/2024

Summary FTES, FTEF and Progress to Target Table -Credit Colleges-

	Headcount	FTES	Target FTES	Progress to FTES Targets	Actual FTEF	Budgeted FTEF	FTEF Difference	Productivity
City College	14,179	3,574.2	4,020	89%	260.4	268.0	-7.6	13.7
Mesa College	20,394	5,845.6	5,715	102%	376.2	381.0	-4.8	15.5
Miramar Credit	13,412	3,386.1	3,176	107%	225.5	212.0	13.5	15.0
In-Service	1,201	186.3	400		5.5	0.0		
Credit Colleges	38,758	12,992.2	13,311	99%	867.6	861.0	6.6	14.9

Note 1. In-service is excluded from productivity and progress to target.

Note 2. City College includes includes City College classes held at ECC.

Modality Summary

		Enrollment	Ftes	Adj Ftef	Current Prod.
Grand Total		27,863	3,389.7	225.5	15.03
Miramar	Total	27,863	3,389.7	225.5	15.03
	Fully Online	12,160	1,296.6	74.1	17.49
	HyFlex	75	9.2	0.9	10.63
	Off Campus	225	23.4	1.8	12.98
	On Campus	10,240	1,392.1	100.9	13.80
	Online Live	768	79.8	5.5	14.51
	Partially Online	4,395	588.6	42.3	13.91

Common Course Numbering (CCN)

- Assembly Bill 1111 and Education Code 66725
- Phase 1 of 3 Launched Summer 2024
- "...To streamline transfer from two- to four-year postsecondary educational institutions and reduce excess credit accumulation, on or before July 1, 2024 (2027)*..."
- CA Community Colleges shall adopt a common course numbering system (CCN) for all general education requirement courses and transfer pathway courses
- Each community college campus shall incorporate common course numbers from the adopted system in its catalog
- The CCN system shall be **student-facing**...and ensure that comparable courses across **all cc's have the same number**

*proposed change AB 3290 extends deadline

Timeline For CCN Phases

CCN Phase	Proposed Number of Courses	Intersegmental, Discipline Faculty CCN Template Development		CCN Student Facing at the Colleges
		Faculty Complete CCN Templates	Number of CCN <u>Templates</u>	<u>Timeline</u>
Phase I	6	Completed	14 Templates	Fall 2025
Phase II	Approx. 25	December 2024/ January 2025		Fall 2026
Phase III	50	May/June 2025		Fall 2027

Phase I Courses

- ➤ College Composition (ENGL 101)
- ➤ Argumentative Writing & Critical Thinking (ENGL 205)
- ➤ Public Speaking (COMS 103)
- ➤Introduction to Statistics (MATH 119)
- ➤Introduction to American Government & Politics (POLI 102)
- ➤Introduction to Psychology (PSYC 101)

Templates vetted through local curriculum approval processes (including articulation) to Board of Trustees approval for CCCCO Submission/COCI by December 2, 2024

Phase II Courses

<u> </u>	1 6041363				
Discipline	Meeting Dates	Course Title(s)			
History	October 28, 29, 30	US History to 1877	US History from 1865		
English	October 28, 29, 30	Introduction to Literature	Argumentative Writing & Critical Thinking Through Literature		
Economics	October 28, 29, 30	Principles of Microeconomics	Principles of Macroeconomics		
Art History	October 28, 29, 30	Survey/Western Art: Prehistory to Middle Ages	rehistory to Middle Contemporary		
Biology	November 18, 19, 20	Human Anatomy w/ Lab	Human Physiology w/ Lab	General Survey Biology w/ no Lab	
Chemistry	November 18, 19, 20	Introduction to Chemistry	Gen Chem for Science Majors Sequence A (1- year sequence and includes 2 courses)	Gen Chem for Science Majors I w/ Lab (first semester course of the one-year sequence)	
Math	November 18, 19, 20	Single Variable Calculus I Early Transcendentals	Single Variable Calculus I Late Transcendentals	Single Variable Calculus II Early Transcendentals and Late Transcendentals	
Astronomy	November 18, 19, 20	Astronomy w/ Lab			

Phase II Courses (continued)

Discipline	Meeting Dates	Course Title(s)	
Anthropology	December 2, 3, 4	Introduction to Biological Anthropology w/ Lab	
Communication	December 2, 3, 4	Interpersonal Communication	
Sociology	December 2, 3, 4	Introduction to Sociology	
Child Development	December 2, 3, 4	Child Growth and Development	